


Descriptive Statistics and Internal Consistency Reliabilities of the HEXACO-60 Scales in a College Student Sample
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HEXACO-60 Scales





Honesty-Humility

Emotionality

Extraversion

Agreeableness

Conscientiousness

Openness to Experience

Note.   Gender information is missing for 6 self-reports and 8 observer reports.




EXAMPLE


1. Esse Quam Videri (female) happened to score 3.90 on the Honesty-Humility factor. 
2. The mean score for females on the H-H factor is 3.31.  The standard deviation (SD) is .64.
3. To calculate the z-score for Esse, you take her raw score (3.90) subtract the mean (3.31) and 
4. divide by the SD (.64):  (3.9 – 3.31) / .64 = .59/.64 = .92.

Raw score – mean   = z-score
		Standard deviation

5. So Esse scores approximately one standard deviation above the mean for females, or at about the 80th percentile compared to other females.  Her score is pretty high relative to the population of those who have taken the test.  She would be characterized as rather high in Honesty-Humility, relative to other females, and certainly when compared to males who tend to score lower than females on this factor.
[bookmark: _GoBack] (
Esse
 scores about here at .9
2
 z-
score.
)[image: http://assets.20bits.com/20081027/normal-curve-small.png]
http://www.mathsisfun.com/data/standard-normal-distribution-table.html
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